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b, Answer ONE of the foliowing two guestions: ¢ 2

[For the circuit shown to the night
a. Prepare the present state next state table.
b. Draw the State Transition Diagram.
c. Draw the output (O) on the timing diagram.

(7 pIs. ]
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(4 prs.;

Prepare the Present state / next state table.
Prepare the Karnaugh maps for D Flip Flops.
Convert the maps to that for JK Flip Flops.
Draw the counter circuit.

(6 pts.)
(8 pts.)

(0 pis.)
(3 pis.)
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The For the state transttton dragram shown

V.

Reduce the nuimber of states by the method of grouping

- b, Draw the reduced state transition diagram. 7 3 prs.)
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To what degree does the state assigniment shown satisfy the
4 rules for the state transition diagram shown?

f 15 pis.)

Nole: You nuest justifv vour ansyveery explicitly.

g iy S SN sk g P el gy wey N S gy e otk kil oy mEm gl S ek gy g hoh sl ap eyt Py i (o ol e sl ms T ame gy e o el e cmm AT W e ey T B S el W B S e Y wle’ wee ek S e e omgek S P Sl b TR T e mbgh SR SRR BT ke R Sy

Realize the 4 <tate machine shown by the One-Hot method,
using D- Flip Fiops.. You are muitiplexers.
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Note: The 6" answer will Ao ignored
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a.  identify the Read Only Memory circuit shawn in the {igure opposife,
Justity your answer briefly.

Fa 1 i

FHow many 16x4bit memory chips wouid vou need 1o consiruct a

) PIXSbt moemory?
c. o whatextent ts the Ajterpate State Transition Method applied in Question 7
N
e

. In which type of chins would you find the AND/OR fragment shown fo the right?

How many unigue ways are there to assign the abels 4B to an state machine of jug
two states (a.

Justify your answer briefly.
Y2 Justity your answer any which way you can {graphic, algebraic,.
.

Pertorigatie division LCOO L 1/10.1 explicitdy. {ao pomis for sqving 875 25 2.5

fiize the function F = A(BXC) using ihe array shown,
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